
0
5

14
2

0

Features:
•	  Smooth, efficient motion
•	  Durable and highly reliable integrated worm-gear design
        - Suitable for uneven terrain and curb-climbing
•	 High starting torque:
		  - Peak starting torque up to 113.7Nm
		  - Continuous torque up to 20.4Nm
		  - 15-minute continuous torque up to 39.2Nm

ElectroCraft’s MPS32  integrates a 2-pole PMDC 
brush motor with a single-stage right-angle worm 
gearbox, designed for medical or general mobility 
applications. The MPS32 is a unique design that 
delivers high torque and increased efficiency, while 
providing smooth, reliable and quiet operation.
ElectroCraft MobilePower™ gearmotors feature 
an integrated design that provides increased 
performance and reliability at an affordable price 
compared to traditional motor/gearbox combinations. 
As with all ElectroCraft products, MobilePower™ 
gearmotors are customizable to meet specific 
application requirements.

PAGE 1 OF 3

MPS32 ElectroCraft MobilePower™ 
	 Geared Motor	    
	 Longer battery life - More power	

•	  Configurable or completely customizable designs
		  - Motor, gearbox, brake, encoder, cabling
•	 Typical applications:
		  - Medical Mobility Chairs
		  - Stair Lifts
		  - Industrial traction applications
    	 - Industrial lifts
    	 - Automated Guided Vehicles
    	 - Autonomous Mobile Robots

 G
E

A
R

E
D

 M
O

T
O

R
M

PS32 M
obilePow

er™

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

WR UNIT
SECTION A-A

W/ FLYING LEADS

UNLESS OTHERWISE SPECIFIED

DO NOT SCALE DRAWING

DIMENSION UNITS: INCHES [mm]

BREAK ALL EDGES: .015 [0.38]

FILLET & RADII: .015 [0.38]

DEFAULT TOLERANCES

.XX DECIMAL: ±.01 [0.25]

.XXX DECIMAL: ±.005 [0.13]

ALL ANGLES: ±1°

MATERIAL

-

ROHS SHEET

OUTLINE, MTR-GRB-BRK

DWG
NO. MPS32-W#-###V24-20#-XYES

THIS DRAWING AND OR

SPECIFICATION IS THE

PROPERTY OF ELECTROCRAFT

INC. AND IT'S SUBSIDIARIES

AND IS ISSUED IN STRICT

CONFIDENCE AND SHALL NOT

BE REPRODUCED, COPIED, OR

USED AS THE BASIS FOR THE

MANUFACTURE OR RESALE OF

APPARATUS WITHOUT PRIOR

WRITTEN PERMISSION

FINISH

CUSTOMER

CUSTOMER P/N REV

CATALOG

- -

-

 1 OF 4 

THIRD ANGLE PROJECTION

14
REFERENCE DRAWING

67-0000006-###

A A

1.969
[50]( ) 2.982

[75.75]( )

2.323

[59]
( )
1° +DFT

8.248
[209.5]( )

13.764
[349.6]( )

R3.072
[78.02]( )

3.266

[82.95]
( )

R2.563
[65.1]( )

23.62.98
60025[ ]

MEASURED
FROM MOTOR

LEAD EXIT

.8661 h6 (.8656
.8661)

22 h6 (21.987
22 )[ ]

.726.004
18.45 0.1[ ]

.2362 N9 (.2350
.2362)

6 N9 (5.97
6 )[ ]

M8 x 1.25
Ø.354 [9] X 90°

.984 [25] MIN

10.357
[263.08]( )

1.969 - .014
.018+

50 - 0.35
0.45+[ ]

1.063.006
270.15[ ]

 1.835
1.804

 45.82
46.6[ ]

1.187
[30.15]( )

.787
[20]( )

1.063.004
270.1[ ]

2

(57°)(57°)

(50°)(50°)

5.394

[137]
( )

.253

[6.42]
( )4X  THRU

2.953

[75]
( )

4X M8 X 1.25
.71 [18] MIN
EQ SPACED

ROTATION DETAIL

M

-

+ RED

BLACK

CCW

ROTATION DETAIL

M

-

+ BLACK

RED

CW

2.628
[66.75]( )

2.953
[75]( )2.563

[65.1]( )
11.201
[284.5]( )

.164
[4.16]( )

3.60

[91.5]
( )

.500
[12.7]( )

BRAKE HANDLE
ROTATES 13°±3° CW
TO DISENGAGE

23.62.98
60025[ ]

4X 

.354.079
92[ ]

4X 
.984.315

258[ ]

BLACK PAINT

MTR-GRB-BRK NAMEPLATE

2.323

[59]
( )

3.516
[89.31]( )

1° +DFT

Gearbox Option

WR = Right Angle Worm & Spur W/ 
Right Hand Output Shaft

WL = Right Angle Worm & Spur W/
Left Hand Output Shaft

PM S 3 W2 R
MPS

Single-stage  
Gearbox

Motor

1 2 2 X0 08 3 4V
Output Speed

183 = 183 RPM
146 = 146 RPM
121 = 121 RPM

Rated Voltage

24 = 24 VDC

Encoder Option

X = None

Disengage Option

2 = No Gear Release, Manual Release Brake

Lead Option

0 = Unshielded Leads Covered with Braided Sleeving

Connector Option

0 = None
5 = Dynamic Controls Shark
6 = PG R-net Drive
7 = Anderson Powerpole
8 = PG VR2 Drive
9 = Curtis enAble Drive



M
PS32

MPS32 Performance

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

0

10

20

30

40

50

60

70

80

90

100

110

120

0 20 40 60 80 100 120 140 160 180 200

O
ut

pu
t P

ow
er

 (W
)

O
ut

pu
t T

or
qu

e 
(N

m
)

Output Speed (RPM)

MPS32-W#-183V24-20#-X 183 RPM

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-146V24-20#-X 146 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-121V24-20#-X 121 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

0

10

20

30

40

50

60

70

80

90

100

110

120

0 20 40 60 80 100 120 140 160 180 200

O
ut

pu
t P

ow
er

 (W
)

O
ut

pu
t T

or
qu

e 
(N

m
)

Output Speed (RPM)

MPS32-W#-183V24-20#-X 183 RPM

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-146V24-20#-X 146 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-121V24-20#-X 121 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

0

10

20

30

40

50

60

70

80

90

100

110

120

0 20 40 60 80 100 120 140 160 180 200

O
ut

pu
t P

ow
er

 (W
)

O
ut

pu
t T

or
qu

e 
(N

m
)

Output Speed (RPM)

MPS32-W#-183V24-20#-X 183 RPM

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-146V24-20#-X 146 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

0

100

200

300

400

500

600

700

800

900

1,000

1,100

1,200

O
ut

pu
t P

ow
er

 (W
)

0

10

20

30

40

50

60

70

80

90

100

110

120

O
ut

pu
t T

or
qu

e 
(N

m
)

MPS32-W#-121V24-20#-X 121 RPM

0 20 40 60 80 100 120 140 160 180 200
Output Speed (RPM)

S1 Output Torque (Nm)

S1 Output Power (W)

S2 Output Torque (Nm)

S2 Output Power (W)

Peak Output Torque (Nm)

Peak Output Power (W)

 G
E

A
R

E
D

 M
O

T
O

R
M

PS32 M
obilePow

er™

MPS32 ElectroCraft MobilePower™ 
Geared Motor	
Longer battery life - More power

ElectroCraft, Inc.
2 Marin Way, Suite 3
Stratham, NH 03885-2578 USA

Tel: (844) 565-6144 Email: sales@electrocraft.com 
www.electrocraft.com

PAGE 2 OF 3



MPS32 Motor Parameters

MPS32 ElectroCraft MobilePower™ 
Geared Motor	
Longer battery life - More power

 G
E

A
R

E
D

 M
O

T
O

R
M

PS32 M
obilePow

er™

Winding/speed 183 146 121

Gear Ratio 29.00:1

Operating Voltage (VDC) 24

No Load Speed (RPM) 183 146 121

Peak Torque (5 sec) (Nm) 79.8 96.6 113.7

Peak Current (5 sec) (Amps) 80.0

Peak Power (5 sec) (Watts) 1051 944 791

S2 Torque (15 min) (Nm) 25.2 32.3 39.2

S2 Current (15 min) (Amps) 28.0

S2 Power (15 min) (Watts) 432 436 422

S1 Torque (Continuous) (Nm) 12.2 16.3 20.4

S1 Current (Continuous) (Amps) 16.0

S1 Power (Continuous) (Watts) 222 237 240

Torque Constant (Nm/A) 0.0424 0.0528 0.0633

Voltage Constant (V/KRPM) 4.45 5.53 6.63

Motor Inertia (Armature) (kg.mm²) 442.96

Motor Winding Resistance (Ohms) 0.136 0.141 0.182

Motor Winding Inductance (μH) 94 144 197

Motor Max Winding Temp (ºC) 155

Motor Poles 2

Motor Mass (kg) 6.67

Notes: 

Gear Motor specifications (torque, current, power) are reference values based on 25°C operating temperature. 

Do not apply maximum current for more than 5 seconds or more than twice without 10 minutes between cycles

PAGE 3 OF 3
ElectroCraft, Inc.
2 Marin Way, Suite 3
Stratham, NH 03885-2578 USA

Tel: (844) 565-6144 Email: sales@electrocraft.com 
www.electrocraft.com


